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THRET(AF)a—K ITHET(KF)8  #HEH O 1M 2m 3 4® 5S% 6 7m 8 9

10 tHHT 151 2 2 1 1 1 3 4 0 3 6
20 fE&LET 164 1 3 3 2 4 5 2 5 7 4
30 @M 216 2 0 2 4 2 3 3 5 2 0
40 SRET 94 0 0 0 0 0 0 1 1 0 0
50 KET—T B 286 0 0 2 2 5 2 1 2 2 0
60 KET=TH 210 1 1 1 2 2 2 5 1 8 1
70 RET=TH 322 1 3 0 3 2 3 7 1 2 5
80 AT IEHET 82 2 1 0 5 2 2 1 2 1 1
90 PN I ET 193 2 2 1 2 0 4 2 3 3 2
100 b ALET 112 1 0 0 1 1 2 1 1 2 1
110 ¥ATHT 1147 19 26 14 26 26 18 28 26 19 31
120 ¥A;TAHT 198 4 2 2 4 6 5 5 2 6 5
130 #&FHT 386 1 7 3 4 5 2 7 7 2 7
140 EH[E M7 12 0 0 0 0 0 0 0 0 0 0
150 1 FFrHET 318 3 3 4 3 6 7 6 10 5 4
9999 KB XEt 3891 49 50 33 59 62 58 713 66 62 67
510 AETHT B 416 5 0 5 2 4 3 3 4 3 3
520 HpEEMT 122 1 6 3 3 2 1 4 1 5 5
530 /\F&EHET 209 1 0 2 0 2 0 1 1 1 1
540 15 EHT 388 2 0 3 2 3 3 2 4 6 2
550 FithET 339 2 2 1 3 1 2 4 4 1 5
560 = ZLHT 84 0 0 0 0 0 0 0 0 0 0
570 EEHT 63 0 0 1 1 1 0 3 1 1 1
580 #rBHET 166 3 2 1 0 1 1 1 0 3 0
590 #7;EHT 70 0 0 2 0 1 1 0 2 0 1
600 ZEARET 534 3 7 7 3 4 12 2 10 9 14
610 MET 182 1 0 1 3 1 4 1 2 1 2
630 ¥TERTZTH 8 0 0 0 0 0 0 0 0 0 0
9999 J\ (K& XEt 2581 18 17 26 17 20 27 21 29 30 34
1010 R HT 167 2 1 0 1 2 0 4 2 0 5
1020 Lt HT 283 4 4 5 4 12 6 6 5 10 8
1030 b /T HT 272 4 7 7 8 9 6 12 10 8 10
1040 74 FrHT 460 13 7 10 14 7 12 7 11 14 11
1050 £ FHHET 615 13 10 16 10 12 14 12 14 11 12
1060 F _EHT 547 12 10 13 13 21 11 24 19 7 12
1070 YR HET 657 11 11 12 12 7 18 9 13 14 9
1080 & HHET 381 9 6 11 7 7 4 7 7 4 7
1090 BiEHT 513 9 4 9 7 9 7 14 5 17 9
1100 L BEHT 541 11 12 9 11 13 16 17 13 17 13
1110 $Z1EHET 148 5 0 1 2 3 0 6 2 6 7
1120 #21E JTHT 76 1 0 1 1 0 0 0 0 1 2
1130 +4&HT 21 0 0 0 0 0 1 3 0 1 0
1140 FkJR=HET 16 0 0 0 1 0 1 0 1 0 0
1150 #JRET—TH 176 0 0 0 2 3 1 3 1 4 2
1160 #/RET—T B 223 2 2 1 4 0 3 4 1 2 3
1170 ;5 /KHET 164 1 1 0 1 0 2 1 0 2 1
1180 EE&FLHET 205 0 2 2 1 4 1 5 2 4 3
1190 ¥ F AHET 180 4 7 3 5 2 2 6 1 4 1
1200 XFHEI—TH 128 0 0 0 0 2 0 2 1 2 2
1210 XFHEIZTH 189 1 0 1 3 0 3 3 3 2 2
1220 #THET 150 0 2 0 1 2 1 0 0 0 1
1230 #EHET 160 2 0 1 1 2 1 3 1 3 2
1240 ZEHT 132 2 1 0 0 1 2 0 4 2 4
1250 fEERT 152 1 1 2 2 2 1 2 1 1 1
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1260 JEHR & 41 0 0 0 1 0 1 1 0 0 1
1270 EEHT 144 4 1 1 2 2 1 2 0 0 1
1280 ARAHET 163 1 0 0 1 1 0 0 0 1 1
1290 £RHT 201 2 1 1 1 3 1 3 5 2 3
1300 4 ZEHT 150 1 0 1 1 1 1 0 2 1 2
1310 RJLHT 75 0 1 1 1 1 1 1 0 0 0
9999 XHEMX &t 7330 115 91 108 118 128 118 157 124 140 135
1510 #EHN BT 641 7 11 10 11 1 10 12 19 11 15
1520 HEHITET 621 4 3 4 6 5 7 6 10 11 8
1530 HEHNSTHT 316 2 5 6 4 9 3 9 5 6 5
1540 K123FHT 528 2 3 5 5 11 7 7 8 5 7
9999 HEMNI X ET 2106 15 22 25 26 36 27 34 42 33 35
2010 = S5 HET 189 1 1 1 5 1 4 2 6 1 2
2020 %= E7aHET 277 4 3 4 2 1 6 2 12 13 4
2030 ET 20 1 1 0 0 0 0 0 0 0 0
2040 HMEBET—T B 197 1 1 2 6 2 4 2 1 2 5
2050 ;MET=T H 188 1 1 2 1 2 5 4 3 2 2
2060 ¥5 i HET 34 0 0 0 0 0 0 0 0 0 0
2070 FxET—TH 223 2 1 1 1 7 6 8 5 10 6
2080 +RETZ_TH 186 2 3 3 4 0 2 3 3 0 3
2090 wy g ET 1544 19 13 19 19 14 14 22 16 29 27
2100 HibHET 227 3 6 4 3 4 7 4 3 3 5
2110 HEMNETET—T B 214 3 4 8 1 4 6 6 4 3 9
2120 HEWIETET—T B 239 5 2 6 5 3 8 3 8 5 7
9999 £ ERXET 3538 42 36 50 47 38 62 56 61 68 70
2510 $AUEHET 1912 25 30 34 45 24 29 37 40 41 54
2520 SKEEHT 1177 14 11 22 19 26 21 28 34 30 27
2530 = /INERET 389 9 6 9 13 12 8 9 8 8 5
2540 Fi5HET 438 5 2 4 5 4 5 5 5 9 3
2550 ;HET 235 3 0 2 5 1 4 2 2 3 3
2560 = ST 902 8 14 6 12 11 15 14 14 12 17
2570 X &HT 76 0 0 0 0 1 0 0 1 1 0
9999 MAE X5 5129 64 63 77 99 79 82 95 104 104 109
3010 KATHT 919 11 10 15 11 16 14 14 18 12 9
3020 ;@I HT 902 14 15 20 15 19 11 13 17 22 19
3030 L EFET 690 6 8 10 17 9 15 23 13 22 15
3040 B _EAT 152 2 2 1 0 1 2 0 2 4 3
3050 wy BRI A AT 2151 45 64 52 54 38 64 53 60 48 55
3060 THESTHT 486 7 7 4 4 5 5 4 6 3 7
3070 tHBREHT 458 3 3 4 6 7 8 7 7 11 4
3080 H AT 361 6 9 6 11 6 15 8 17 16 12
3090 FH R ERAT 388 2 8 10 9 11 7 9 10 13 14
3100 H e FGHET 522 6 6 10 9 7 10 8 9 8 9
3110 HepiLET 427 5 1 4 6 8 5 8 6 6 5
9999 J\ T X &t 7456 107 133 136 142 127 156 147 165 165 152
3510 £ R _EHT 174 0 0 1 1 2 1 2 4 0 1
3520 2R A HT 343 2 5 5 6 4 4 3 9 3 7
3530 E[RTHT 904 20 9 17 15 17 22 16 25 24 28
3540 Z= B KHT 315 1 4 2 4 4 4 1 2 2 3
3550 AEFHT 765 10 9 8 15 8 12 10 13 10 14
3560 &= T ERAT 276 5 3 2 5 4 3 1 2 2 1
3570 = T AT 805 20 10 18 15 13 14 13 10 17 10
3580 LI HET 548 6 7 8 3 7 7 6 8 11 5
3590 ;EMT 16 0 0 0 0 0 0 0 1 0 0
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TBET(KF)a—K TEET(KF)E HMEH o

9999 S HKXET
4010 41| NET
4020 {ESHT

4030 15HET

4040 = HEAHT
4050 7K /T

4060 EZZ HHET
4070 Jt/RHET

4080 =;T;HAMT
4090 FREHET

4100 FgFEFOET
4110 JbFFn@T
9999 &M XEtT
4510 EREE—ZEHT
4520 EREE — ZFEHT
4530 EREE = Z5HT
4540 EREEIUZEHET
4550 EREE FZEHT
4560 EREE/NFEHET
4570 EREE-HZHET
4580 AREE/\FHET
4590 EREE N ZEHT
4600 AR EE+ZEHT
4610 AREE+—ZBHT
4620 EREE+ —ZHHET
9999 ARERXET
5010 FAF0H HEHET
5020 RRF0BAELET
5030 RRF0R]{—HET
9999 RRFIMXET
5510 &) R ET

5520 = HhET

5530 74 '= M7

5540 wy ZEHET

5550 ERHT

9999 E it X &t
6010 FEIHET/MER
6020 [EHT &

6030 [ERTA I
6040 iz FHET
6050 JI| AETE
6060 JI|EHETF
9999 FEERXET
6510 HZEAFBHET
6520 B & A KIEHET
6530 B ZE AFHHET
6540 BZEALLUTHT
6550 B =AM Z NET
6560 HZ&=ALGILHT
6570 H R AIEFHT
6580 B ZAEHRT
6590 HZ= ATHET
6600 B Z A HHT
6610 H&XA L FHHET

4146
302
75
189
178
387
360
150
182
274
108
116
2321
766
1583
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182
103
84
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84
153
208
187
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2617
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6620 HZE A FGHET 41 0 1 0 0 0 0 1 1 2 1
6630 HZEA T AT 99 1 1 0 0 1 0 1 2 1 0
6640 B &= A EitlT 34 0 0 0 0 0 0 0 0 1 0
6650 B & ASRHET 1 0 0 0 0 0 0 0 0 0 0
6660 B Z A RLHET 51 0 0 0 0 0 0 0 0 0 0
9999 HEAKRKXET 1262 4 6 9 5 8 8 10 8 11 15
7010 Z RMOET 140 0 0 0 1 2 1 1 0 2 1
7020 — RAHT 242 0 0 0 1 3 1 1 3 2 1
7030 — R FR#AET 90 0 2 0 0 1 1 0 0 0 1
7040 — B T KEFHT 182 0 0 0 0 0 1 0 2 0 0
7050 = R ¥y H I HET 96 0 0 0 0 0 0 0 0 0 0
9999 — R XEt 750 0 2 0 2 6 4 2 5 4 3
8011 JRAHTFEERL 51 0 0 0 0 0 0 0 0 0 0
8012 YAHTFEERA 115 1 0 1 0 1 1 0 0 1 0
8013 JRAHBTFAERIL 62 0 1 0 1 1 0 0 0 1 0
8021 IRAHTZEKLY 71 0 0 0 0 0 1 0 0 1 0
8022 IR AHTIEKA 4 0 0 0 0 0 0 0 0 0 0
8023 IR AHTIEKIE 6 0 0 0 0 0 0 0 0 0 0
8031 IRAHTH ALY 138 0 1 0 0 0 2 0 1 0 1
8032 {AETHAA 6 0 0 0 0 0 0 0 0 0 0
8033 IRAHTH AL 12 0 0 0 0 0 0 0 0 0 0
8041 IR AHTELIRL 60 0 0 0 0 0 0 0 0 0 0
8042 IR AHTELIRA 23 0 0 0 0 0 0 0 0 0 0
8043 IR AHTELIR L 17 0 0 0 0 0 0 0 0 0 0
8044 R AHTELIRIZ 24 0 0 0 0 0 0 0 0 0 0
8045 IR AHTALIR (X 45 0 0 0 0 0 0 0 0 0 0
8050 IR AHT A 107 0 0 0 0 0 0 0 0 0 0
8060 IR AHTFT 96 0 0 0 1 1 1 1 0 0 0
8070 IRAHBTER 99 0 0 1 0 1 0 0 0 0 0
8080 I AHT ki 34 0 0 0 0 0 0 0 0 0 1
8090 I AHTH;EE 29 0 0 0 0 0 0 0 0 0 1
8100 Y AHETH /IR 15 0 0 0 0 0 0 0 0 0 0
8110 IRAHTJI| 5 32 0 0 0 0 0 0 0 0 0 0
8120 IR AHETEE" 61 0 0 0 0 0 0 0 0 0 0
8130 IR AHTH L 62 0 0 0 0 0 0 1 0 0 1
8140 IRABTEFERT 95 0 0 0 0 0 0 0 0 0 0
8150 IRAHTHFkK L 74 0 0 0 0 0 0 0 0 1 0
9999 AKX ET 1338 1 2 2 2 4 5 2 1 4 4
9010 FTHTKZH 533 11 7 13 9 11 8 6 8 13 9
9020 FTHTEH IR 330 10 9 7 7 6 5 7 6 7 8
9030 FTHT#HZEH 987 27 26 27 27 38 39 42 34 42 40
9040 FTHTHESH 1152 15 15 21 19 16 17 28 27 22 29
9999 FTH X5t 3002 63 57 68 62 71 69 83 75 84 86
9110 SRET T Hik 483 7 5 6 6 8 8 11 9 5 12
9120 SFETHIE 223 1 2 1 1 1 2 3 1 3 1
9130 $RETH B 113 4 1 0 3 3 1 3 2 0 3
9140 SRET T+t 358 7 2 7 7 5 4 7 7 4 3
9150 $BHT L 45 448 9 4 10 11 10 12 10 10 12 6
9160 SRHETERHT 660 8 12 8 14 17 15 17 17 14 16
9170 $ERTAH 869 12 12 5 14 14 13 15 16 16 22
9180 SRHETER 540 6 7 7 8 4 10 11 5 9 10
9190 #ERTZ O 184 0 1 2 2 0 2 3 2 4 3
9200 $EHTEFIF 176 4 3 8 1 2 2 2 5 3 3
9210 $RET=H 309 3 4 4 3 4 4 4 7 5 2
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9220 SEMETHH 486 7 13 8 7 16 11 16 10 15 12
9230 SxET &M 622 1 4 7 11 5 10 14 15 8 18
9240 fRHETIEE 217 2 1 1 3 5 5 5 5 4 1
9250 $EETILHrith 504 5 7 4 5 9 6 7 10 10 7
9999 FEXET 6192 76 78 78 96 103 105 128 121 112 119
9310 R[FHET:AR 175 1 0 2 1 1 0 0 1 2 1
9320 H[ZHETIL 189 0 2 3 2 2 3 1 2 1 4
9330 E[ZMET/NE 123 0 3 0 1 1 1 1 0 2 1
9340 H[5HETREY 324 3 3 1 4 5 3 6 4 5 5
9999 H[G#XEt 811 4 8 6 8 9 7 8 7 10 11
9410 RET T & 293 0 1 1 3 2 2 2 5 4 3
9420 RHETHE 192 2 0 0 0 0 1 0 1 0 1
9430 RHETERK 134 0 0 0 0 0 0 0 0 0 1
9440 RETAEF 12 0 0 0 0 0 0 0 0 0 0
9450 RETHEIR 21 0 0 0 0 0 0 0 0 0 0
9460 RET{—_HE 26 0 0 0 0 0 0 0 0 0 0
9470 RETER 5 0 0 0 0 0 0 0 0 0 0
9480 RHETHER 42 0 1 1 0 0 0 0 0 1 0
9999 RiXXEt 725 2 2 2 3 2 3 2 6 5 5
99999 H&Et 57901 691 697 758 849 827 890 961 994 1010 1028
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ARET (K a—F THRET(KF)& 108 11E 12 13@ 14 15 16 17 18 19
10 HAT
20 [ d-HT
30 @M
40 LRHET
50 KET—T B
60 AET=TH
70 RET=TH
80 AT IR AT
90 FEHATIRAT
100 b ALET
110 #¥3;THT
120 #A;TAHET
130 t&FHT
140 EH[EET
150 1 FFrHET
9999 KER X &t
510 AETHT B
520 4L EEMT
530 J\It&HET
540 15 EHT
550 FithET
560 = ZEHT
570 EEHT
580 ¥TREAET
590 FriEMT
600 ZERHET
610 FHT
630 FERT T B
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9999 /\ KX &t 3 3 3 40 3 5 4 5 4 44
1010 S HET 1 2
1020 Lt K HT 6 8 1 6
1030 H1 FrHT 1 9 10 1 1 11
1040 74 FrHT 7 8 8 9 15 6 7 9
1050 £ FHHET 13 16 13 18 10 10 2 13 1 17
1060 F _EHT 15 10 11 9 8 18 20 1 8
1070 Fr[RHET 12 10 20 8 13 12 1 18 16
1080 & HHET 7 9 4 11 6 9 8 8
1090 BiEHT 12 12 11 5 12 17 7 10
1100 L Bi&EHRT 16 10 14 19 16 19 1 12 11
1110 $Z1EHET 3 0 6 1 4 2 1 4
1120 #21E JTHT 0 0 0 1 1 0 2 0
1130 +5:HT 0 1 0 0 0 0 0 0
1140 FkJRET 0 0 2 0 0 1 0 0
1150 #JRET—TH 3 3 4 1 3 1 0 2
1160 #/RET—T B 6 4 1 4 2 2 3 2
1170 ;5 /KHET 2 2 3 2 3 2 4 1
1180 & ALET 5 6 3 4 2 2 1 3
1190 ¥ F AHET 4 3 1 4 1 1 1 3
1200 XFHEI—TH 1 1 1 2 0 2 0 1
1210 XFHEIZTH 4 3 1 2 4 5 4 2
1220 #THET 2 3 3 3 2 3 2 3
1230 #EHET 3 3 4 0 1 3 1 3
1240 EZEHT 1 4 1 1 4 2 1 1
1250 fEERT 0 3 0 4 2 0 5 4
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TRET(KF)a—FK {TEET(K=FE)L  107% 11& 128 13@ 145 15 16k 17% 18 19&%

1260 B & 0 0 0 0 0 0 0 0
1270 EEHT 0 0 0 1 1 2 0 0
1280 ARAHET 2 0 1 2 4 2 3 0
1290 £RHT 5 1 2 4 2 3 0 4
1300 4 ZEHT 2 1 1 2 2 1 2 0
1310 RJLHT 0 0 1 1 0 1 1 0
9999 XHEMX &t 14 131 133 13 136 147 134 138 121 131
1510 #EHN BT 1 11 18 1 13 17 18 19 11 14
1520 }EHD T ET 12 9 12 11 19 13 11 12
1530 }EHTHET 4 6 7 8 6 0 5 7

\looo—kmoooo-h—kwcn%-h\loowmo—kw-hoo
N
(<))

OO = T WO PAAODOOONOWUULIOO DAODNWDIM-—=-O
~

1540 K1ZFHT 10 10 13 9 6 7 6 10
9999 HEMNI X ET 37 43 3 45 45 49 39 33 43
2010 = S5 HET 3 7 4 4 5
2020 % &7 1 5 6 6 1 4 6 7 6
2030 ET 0 0 1 0 0 0 1 1
2040 JET—TH 6 2 1 4 6 3 8 6
2050 ;MET=T H 1 2 3 2 1 3 4 2
2060 ¥5 i HET 0 0 1 1 1 2 1 0
2070 FxET—TH 2 4 2 4 2 4 4 4
2080 +RETZ_TH 7 2 1 5 4 3 6 5
2090 wy g ET 2 23 32 3 31 30 35 26 31 18
2100 HibHET 4 5 4 8 5 5 1 1
2110 HEMNETET—T B 3 3 1 3 2 4 5 4
2120 HEWNEETZTH 7 10 7 7 4 6 8 2
9999 EEXRXET 77 62 72 73 65 68 71 66 80 54
2510 $AUEHET 49 46 46 65 57 67 69 54 57 64
2520 SKEEHT 39 33 30 27 38 31 25 25 35 26
2530 = /INERET 3 6 9 3 7 7 9 6 3 8
2540 Fi5HET 6 7 5 5 4 6 2 4 6 6
2550 ;HET 10 9 3 4 3 1 1 2 4 3
2560 = ST 12 18 18 19 18 26 14 14 19 15
2570 K EHT 2 0 3 0 1 1 3 4 1 1
9999 MAE X5 121 119 114 123 128 139 123 109 125 123
3010 KATHT 13 17 15 24 24 20 19 21 22 15
3020 ;@I HT 13 11 20 15 16 14 16 22 15 21
3030 L EFET 16 17 15 19 11 11 23 14 14 14
3040 B _EAT 3 2 1 2 0 3 2 1 3 1
3050 wy BRI A AT 48 53 40 47 51 49 55 44 46 46
3060 A ESTET 3 5 9 7 4 11 6 10 6 5
3070 tHBREHT 10 7 8 9 2 9 9 7 8 6
3080 H AT 15 14 18 10 11 7 10 9 6 9
3090 FH R ERAT 13 13 14 5 15 10 7 10 11 9
3100 H A FEHET 8 8 11 6 5 8 9 9 9 4
3110 EHAILHET 5 6 2 10 6 4 10 7 4 6
9999 J\ T X &t 147 153 153 154 145 146 166 154 144 136
3510 £ R _EHT 1 3 1 1 2 0 1 0 2 4
3520 2R T 6 4 5 5 4 6 4 7 6 6
3530 2R THT 24 20 16 25 8 11 19 15 13 14
3540 Z= B KHT 2 6 5 7 6 4 10 5 7 7
3550 AEFHT 9 14 12 12 12 13 17 8 17 12
3560 &= T ERAT 4 4 3 4 3 1 5 6 6 4
3570 = T AT 13 8 10 9 10 15 13 8 6 15
3580 LI HET 5 11 5 5 7 10 10 11 5 6
3590 ;EMT 0 0 0 0 0 0 0 0 0 0
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TRET(KF)a—FK {TEET(K=FE)L  107% 11& 128 13@ 145 15 16k 17% 18 19&%

9999 S HKXET 64 70 57 68 52 60 79 60 62 68
4010 B QET 4 4 10 4 7
4020 {EESHT 0 1 1 0 1
4030 i5HT 5 5 6
4040 S HEAHT 5 2 3
4050 7K EHT 1 6 4 10
4060 ESZ HAT 3 1 8 10
4070 Jt/RHET 3 2 1
4080 =;I;HAMT 4 3 4
4090 FRERHT 4 6 5
4100 FgFEFOET 1 2 0
4110 JbFFOET 4 4 1
9999 &M XEtT 4 40 5 4 4 3 4 40 4 48
4510 EREE—ZEHT 1 1 1 1 1 1 9
4520 EREE = FH] 4
4530 EREE = Z5HT !
4540 EREEIUZEHET 1
4550 EREEFH ZHKHT 5
4560 EREE/NFEHET 1
4570 EREE-HZHET 4
4580 AREE/\FHET 2
4590 EREE N ZEHT 2
4600 AR EE+ZEHT 4
4610 AREE+—ZBHT 1
4620 AR+ —FFHET 4
9999 ARERXET 3 3 2 3 3 3 3 3 3 44

5010 FAF0H HEHET
5020 FAF0BAEET
5030 RRF0R]{—HET
9999 RRFIMXET
5510 b R ET

5520 = HhET

5530 74 '= M7

5540 wy ZEHET

5550 ERHT

9999 E it X &t 1
6010 FEIHET/MER

6020 [EHT &

6030 [ERTA I

6040 iz FHET

6050 JI| AETE

6060 JI| BT FE

9999 FEERXET 1
6510 HZEAFBHET
6520 HZ A KIEHT
6530 B ZE AFHHET
6540 BZEALLUTHT
6550 B =AM Z NET
6560 HZ&=ALGILHT
6570 H R AIEFHT
6580 B ZAEHRT
6590 HZ= ATHET
6600 B Z A HHT
6610 H&XA L FHHET
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1540 K1ZFHT 19 8 10 21 9 18 20 17 16 29
9999 HEMNI X ET 51 42 58 67 58 67 79 67 64 88

2010 = S5 HET 4 2 8 3 4 2 0 8 4 2
2020 % &7 5 8 7 3 6 9 6 5 4 9
2030 ET 0 1 0 0 0 2 4 2 2 0
2040 JET—TH 3 7 5 5 4 5 7 3 4 3
2050 BETZ=THB 4 0 3 8 1 3 4 6 5 4
2060 ¥5 i HET 0 1 2 2 1 1 3 1 2 3
2070 +RET—TH 5 6 4 10 8 10 6 8 9 6
2080 FRETZ=TH 3 3 8 5 2 4 6 5 8 5
2090 wy g ET 29 40 44 51 29 41 50 61 58 54
2100 HibHET 8 6 2 4 7 6 4 5 10 10
2110 HEMNETET—T B 8 9 7 6 5 7 2 4 8 8
2120 HEWIETET—T B 12 9 4 1 9 14 8 6 13 13
9999 = B XEt 81 92 94 98 76 104 100 114 127 117
2510 $AUEHET 48 56 61 43 57 66 52 44 53 47
2520 SKEEHT 37 35 31 28 50 39 38 47 31 37
2530 = /INERET 7 12 12 15 13 7 9 11 13 14
2540 FHi5HT 14 15 19 8 9 11 17 10 12 10
2550 ;HET 7 2 2 11 9 9 5 7 12 7
2560 = ST 15 17 21 16 24 25 24 27 31 25
2570 K EHT 0 0 1 1 2 4 2 0 2 1
9999 MAE X5 128 137 147 122 164 161 147 146 154 141
3010 KATHT 24 20 21 27 23 29 16 24 26 29
3020 ;@I HT 27 27 18 19 31 19 26 24 26 16
3030 L EFET 24 19 19 23 16 18 25 19 27 20
3040 B _EAT 2 3 1 2 6 4 3 3 8 4
3050 wy BRI A AT 61 53 56 68 56 54 49 68 49 66
3060 B THET 12 12 11 13 24 14 13 6 17 11
3070 tHBREHT 12 7 8 7 17 13 13 18 14 11
3080 H AT 8 12 9 12 9 9 7 5 7 12
3090 FH R ERAT 6 13 12 8 10 4 8 8 6 6
3100 H A FHHET 16 13 9 10 11 11 14 15 13 11
3110 HepiLET 1 15 5 20 17 18 10 8 13 12
9999 J\ T X &t 203 194 169 209 220 193 184 198 206 198
3510 £/F FHT 14 5 4 7 10 4 2 3 6 6
3520 2 R AT 8 11 7 10 10 11 9 11 10 16
3530 2R THT 31 33 24 29 26 25 32 32 28 29
3540 Z= B KHT 6 12 18 13 6 7 13 8 10 10
3550 AEFHT 18 19 28 24 31 27 23 25 37 19
3560 &= T ERAT 6 6 18 9 4 8 10 12 17 15
3570 = T AT 18 15 17 15 18 24 24 19 19 30
3580 LI HET 12 9 16 10 17 12 18 16 15 16

3590 EMT 1 0 1 0 0 0 0 0 0 0
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9190 #ERTZ O 3 1 4 6 5 7 7 9 11 9
9200 $EHTEFIF 4 10 13 10 8 5 11 9 4 6
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TRET(KF)a—K {TEET(KFE)L 705 71% 72 73 74% 75 716k 71 718 79

10 tHHT 4 3 11 3 5 5 8 0 1 0
20 fE&LET 7 7 5 7 7 3 2 0 4 5
30 @M 5 6 5 8 9 9 11 4 4 5
40 SRET 2 5 2 6 5 5 4 3 3 5
50 KET—T B 7 8 14 13 11 15 14 8 9 6
60 KET=TH 5 5 6 7 8 8 4 3 5 4
70 RET=TH 8 6 10 9 12 6 6 5 7 3
80 AT IEHET 2 2 1 2 2 2 4 3 4 1
90 PN I ET 3 3 5 3 15 7 11 6 6 9
100 b ALET 7 2 6 4 5 3 5 4 3 3
110 ¥ THT 32 34 27 29 40 36 31 23 21 15
120 ¥A;TAHT 7 3 4 4 4 5 3 6 3 1
130 #&FHT 5 13 12 19 7 11 1 6 10 15
140 EH[E M7 0 0 0 0 0 0 0 0 0 0
150 1 FFrHET 6 11 10 14 4 6 5 6 4 5
9999 KB XEt 100 108 118 128 134 121 119 77 84 77
510 AETHT B 13 17 21 9 20 5 19 11 8 9
520 HpEEMT 3 1 3 6 4 5 2 3 1 3
530 /\F&EHET 7 7 5 6 10 9 5 5 6 3
540 15 EHT 13 8 6 16 12 9 16 8 5 4
550 FithET 8 14 6 5 10 11 10 7 5 9
560 = ZLHT 2 2 1 2 1 0 1 0 1 2
570 EEHT 4 1 4 1 3 1 3 1 1 1
580 #rBHET 3 8 9 4 4 1 1 4 9 7
590 FriEMT 1 3 4 1 4 2 3 3 1 2
600 ZEARET 23 27 26 16 23 19 12 6 7 11
610 MET 6 1 7 8 4 10 3 3 4 3
630 ¥TERTZTH 0 0 0 0 0 0 0 0 0 0
9999 J\ (K& XEt 83 89 92 74 95 72 75 51 48 54
1010 R HT 4 3 11 6 9 6 9 6 3 2
1020 Lt HT 13 8 10 8 10 17 13 4 5 10
1030 H1 FrHT 8 9 8 6 10 7 6 7 2 7
1040 75 T HT 11 15 20 7 17 11 15 11 4 7
1050 £ FHHET 12 21 9 17 22 23 15 12 5 13
1060 F _EHT 4 7 13 17 14 14 13 10 4 10
1070 YR HET 14 12 14 14 19 10 19 11 10 13
1080 & HHET 13 8 10 4 12 5 7 8 7 9
1090 BiEHT 22 30 26 23 22 11 13 13 11 9
1100 L BEHT 24 16 18 17 23 11 19 11 9 16
1110 $Z1EHET 3 2 2 3 5 2 2 1 6 5
1120 #21E JTHT 3 3 0 5 2 4 1 4 1 2
1130 +5:HT 0 1 0 1 3 1 2 0 0 2
1140 FkJRET 0 2 0 0 0 0 0 1 1 3
1150 #JRET—TH 3 5 3 9 13 5 4 6 3 4
1160 #/RET—T B 7 7 4 9 12 10 11 2 1 1
1170 ;5 /KHET 1 5 4 6 5 4 5 0 2 4
1180 & ALET 4 6 5 12 9 5 5 6 10 10
1190 ¥ F AHET 9 11 4 4 12 7 10 2 2 9
1200 XFHEI—TH 1 8 6 2 5 5 4 1 0 5
1210 XFHEIZTH 5 6 5 11 4 12 4 2 1 5
1220 T 7 5 1 3 2 8 13 2 4 5
1230 #EHET 8 4 2 10 6 5 3 5 6 5
1240 ZEHT 1 2 3 3 4 5 5 2 2 5
1250 fEERT 2 3 3 3 3 6 5 3 2 0
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TRET(KF)a—K {TEET(KFE)L 705 71% 72 73 74% 75 716k 71 718 79

1260 fEH & 1 1 0 2 3 2 0 1 3 1
1270 EEHT 3 7 1 3 5 3 3 1 4 3
1280 ARAHET 5 7 8 5 3 5 4 3 2 4
1290 £RHT 2 8 4 1 8 5 9 5 2 7
1300 % ZEHT 2 0 3 7 3 7 3 2 4 3
1310 RJLHT 0 1 3 0 0 4 2 2 2 3
9999 XHEMX &t 192 223 200 218 265 220 224 144 118 182
1510 #EHN BT 23 13 18 25 20 25 20 15 6 19
1520 HEHITET 25 19 29 35 26 29 24 18 18 18
1530 HEHNSTHT 4 13 7 6 1 10 17 10 6 15
1540 K1ZFHT 14 21 18 12 18 20 22 11 15 10
9999 HEMNI X ET 66 66 72 78 75 84 83 54 45 62
2010 = S5 HET 4 3 2 4 8 12 7 6 4 3
2020 % &7 4 9 3 7 1 7 5 5 1 8
2030 ET 0 0 1 0 6 3 2 0 0 0
2040 HMEBET—T B 2 4 10 7 7 10 8 5 6 4
2050 ;MET=T H 7 6 5 8 7 7 8 7 6 9
2060 ¥5 i HET 3 0 2 1 2 5 2 1 1 0
2070 +RET—TH 6 8 10 8 8 8 6 9 0 6
2080 +RETZ_TH 4 7 6 6 4 8 7 9 4 3
2090 wy g ET 59 67 55 51 70 65 64 39 33 42
2100 HibHET 8 6 4 4 15 6 8 2 3 4
2110 HEMNETET—T B 8 15 7 9 8 11 8 6 4 4
2120 HEWIETET—T B 8 8 6 14 9 5 10 7 5 3
9999 EEXRXET 113 133 111 119 145 147 135 96 67 86
2510 $AUEHET 50 62 49 61 55 79 56 40 30 51
2520 SKEEHT 36 27 38 38 39 39 33 21 15 16
2530 = /INERET 12 15 11 11 14 10 9 4 6 2
2540 Fi5HET 20 23 18 16 27 17 20 19 12 11
2550 ;HET 7 9 11 3 6 6 6 3 7 5
2560 = ST 23 33 25 37 42 29 41 22 17 25
2570 X &HT 1 6 3 5 3 10 2 2 1 1
9999 MAE X5 149 175 155 171 186 190 167 111 88 111
3010 KATHT 24 38 27 21 38 35 33 23 18 29
3020 ;@I HT 28 27 31 25 35 34 43 22 11 22
3030 L EFET 22 23 18 18 20 26 24 9 15 12
3040 B _EAT 7 6 3 1 4 2 4 4 2 6
3050 wy BRI A AT 44 58 42 60 76 68 56 31 23 37
3060 HEATHT 12 15 10 28 11 17 23 9 9 16
3070 tHBREHT 16 17 17 21 15 12 12 11 13 14
3080 H AT 5 2 9 16 12 12 11 6 4 6
3090 FH R ERAT 7 11 12 11 16 2 8 4 6 6
3100 H A FHHET 17 12 13 12 13 9 4 10 11 8
3110 HepiLET 1 14 18 17 21 19 18 6 12 10
9999 J\ T X &t 193 223 200 230 261 236 236 135 124 166
3510 £ R _EHT 8 5 9 7 7 8 7 6 2 3
3520 2 R AT 9 13 5 13 21 16 12 8 10 13
3530 2R THT 26 38 34 30 31 33 22 17 16 20
3540 Z= B KHT 11 14 12 16 19 15 10 14 7 4
3550 AEFHT 34 30 18 28 28 37 29 17 17 20
3560 &= T ERAT 13 10 11 7 13 9 7 8 7 1
3570 = T AT 25 32 20 38 42 36 25 21 19 20
3580 LI HET 17 9 15 22 21 24 20 11 6 10

3590 EMT 1 1 1 1 0 1 3 0 0 0
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